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Scenario 1  (Most Favourable position)

Total Funding - SG increasing at
0.5% and CT increasing at 4%
(both Y2-Y5)

Total Expenditure - payroll
increasing by 1% (Y2-Y5),
Health & Social Care increasing
by 1.5% (Y2-Y5)  and CPI
increasing by 1.5% (Y2-Y4) and
1% (Y5)
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Scenario 2  (Assumed position)

Total Funding - SG flat cash
(Y2-Y5), CT increasing at 4%
(Y2 & Y5) and 3% (Y3-Y4),
Health & Social Care
increasing at 1% (Y2-Y5)

Total Expenditure - payroll
increasing by 2% (Y2-Y5); CPI
increasing by 2% (Y2-Y4) and
1.5% (Y5)
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Scenario 3 - (Least Favourable position)

Total Funding - SG reducing at
1%, CT increasing at 1% and
Health & Social Care flat cash
(all Y2-Y5)

Total Expenditure - payroll
increasing by 3% and CPI
increasing by 2.5% (both Y2-
Y5)


